

Create Event Design 10621 Midway Ave. Cerritos, CA 90703 (562) 474-8222

## ORDER #004650

MIMI RIEDER 323-899-3116

Order Date: February 21, 2024 Due Date: Upon Receipt

PO: Shipping Address: THE LANDMARK 10635 Woodman Ave Mission Hills, CA 91345

EVENT DATE: APRIL 2ND, 2024 \*\*EVENT STARTS AT 6PM\*\*

INSTALL: MONDAY AT 12PM \*\*MUST BE OUT BY 7PM\*\*

\*\*RETURN TO FINISH SET UP: TUESDAY AT 9AM\*\*

\*\*STANDBY CREW - TUESDAY AT 7:30PM\*\* \*\*\*MUST BE SET BY 8:30PM\*\*\*

\*\*PICK UP: TUESDAY NIGHT AT 12:30AM\*\*

Description		Qtty	Price		Total
Additions					
	Banquet Low Table, 36" TO BE PLACED UNDER THE CHUPPAH	1	\$10.00	Т	\$10.00
	Ivory Lamoure 120" Linen	1	\$28.00	Т	\$28.00
	White DJ Booth, 6ft	1	\$225.00	Т	\$225.00
	White Astroturf TOTAL OF (4) ROLLS	1	\$4,800.00	Т	\$4,800.00
	Ivory Lamoure 132" Linens FOR HIGH TABLES PROVIDED BY THE VENUE	3	\$28.00	Т	\$84.00
	Hedge Panel, 4' X 8' TO BE PLACED BEHIND THE BACKDROP / TO COVER PERGOLA	19	\$150.00	Т	\$2,850.00
			Total Additions		\$7,997.00
General					
	Banquet Round Tables, 60"	6	\$12.00	Т	\$72.00
	White Turf Cover, 2,000 sq ft	1	\$2,000.00	Т	\$2,000.00
			Total General		\$2,072.00
TISH					
	Banquet Table, 8ft	10	\$12.00	Т	\$120.00
	Ivory Lamoure 8ft Linens	10	\$28.00	Т	\$280.00

Description		Qtty	Price		Total
	Lattice Chiavari Dining Chair - Clear / Ivory Cushions	50	\$7.50	Т	\$375.00
			Total 1	Total TISH	
BEDEKIN (UNDE	R PERGOLA)				
	Josephine Love Seat	1	\$250.00	Т	\$250.00
P-	Louis Dining Chair, Vintage Grey	6	\$18.00	Т	\$108.00
	Stage, 10ft x 16ft x 16"	1	\$600.00	Т	\$600.00
	White Carpet Cover for Stage, 10ft x 16ft x 16"	1	\$375.00	Т	\$375.00
	White Carpet Cover for Steps	1	\$150.00	Т	\$150.00
	Backdrop with Window Design 12ft x 8ft HIGH MADE OF (3) PANELS 4 X 8 WITH MOLDINGS, SCONCES, AND MIRRORS / THE PANELS ARE SINGLE SIDED	3	\$750.00	Т	\$2,250.00
		Total BEDEKIN (UNDER PERGOLA)		DLA)	\$3,733.00
CEREMONY					
	Wood Folding Chair, White SET UP FOR CHAIRS: PLEASE LEAVE SPACE IN BETWEEN THE CHAIRS FOR (4) HEATERS ON THE WOMEN'S (LEFT) SIDE	300	\$3.25	Т	\$975.00
	Custom Chuppah Structure, 10ft x 10ft x 10ft Height (4) WHITE ARCH PANELS	1	\$1,750.00	Т	\$1,750.00
	Stage, 16ft x 28ft x 16" (FOR CHUPPAH)	1	\$1,540.00	Т	\$1,540.00
	White Carpet Cover for Stage, 16ft x 28ft x 16" (FOR CHUPPAH)	1	\$1,100.00	Т	\$1,100.00
	White Carpet Runner, 8ft x 60ft	1	\$950.00	Т	\$950.00
			Total CEREM	YNC	\$6,315.00
COCKTAIL HOU	R				
	Flynn Bar, 6ft	2	\$250.00	Т	\$500.00
	Banquet Round Tables, 48"	8	\$10.00	Т	\$80.00
	Lattice Chiavari Dining Chair - Clear / Ivory Cushions	64	\$7.50	Т	\$480.00
	Highboy Cocktail Table, 30"	6	\$10.00	Т	\$60.00
			Total COCKTAIL H	OUR	\$1,120.00

Description		Qtty	Price		Total
RECEPTION					
	Champagne Velvet Pipe and Drape (DOUBLE SIDED), 30ft x 8ft Height FOR MECHITZA	1	\$450.00	Т	\$450.00
	Gold Vintage Mirror with Custom Decal FOR THE ENTRANCE / CUT TO SHAPE	1	\$603.00	Т	\$603.00
	Stage, 16ft x 24ft x 24" (FOR BAND)	1	\$1,320.00	Т	\$1,320.00
	White Carpet Cover for Stage, 16ft x 24ft x 24" (BAND)	1	\$950.00	Т	\$950.00
	White Dance Floor, 30ft x 44ft	1	\$3,860.00	Т	\$3,860.00
	Banquet Table, King	16	\$22.00	Т	\$352.00
			Total RECEPTION		\$7,535.00
CATERING					
	Champagne or Taupe Velvet queen Linens	5	\$65.00	Т	\$325.00
	Banquet Table, 6ft	4	\$12.00	Т	\$48.00
	Ivory Lamoure 6ft Linens	4	\$28.00	Т	\$112.00
	Banquet Table, Queen	14	\$18.00	Т	\$252.00
	Banquet Serpentine Tables	2	\$12.00	Т	\$24.00
	Ivory Lamoure Linens FOR SERPENTINE TABLES	2	\$28.00	Т	\$56.00
	Banquet Table, 8ft	2	\$12.00	Т	\$24.00
	Banquet Tables, 8ft with Velon Cover	30	\$17.00	Т	\$510.00
	Trash Cans	8	\$15.50	Т	\$124.00
			Total CATERING		\$1,475.00
Services					
	Set Up Fee - Client Turf Fee	1	\$1,500.00		\$1,500.00
	Delivery Fee (Additonal	1	\$150.00		\$150.00
	Trucking Fee	3	\$450.00	Т	\$1,350.00
	Installation Fee SET UP FIRST DAY	1	\$3,920.00		\$3,920.00
	Installation Fee SET UP SECOND DAY	1	\$2,300.00		\$2,300.00
	Standby Crew CREW TO MOVE BACKDROP FROM BEDEKIN AT 7:30PM TO THE RECEPTION AS A MECHITZA (40 MIN SET UP TIME)	3	\$200.00		\$600.00
	Breakdown Fee	1	\$4,200.00		\$4,200.00

Notes 3/8 deposit received by brian luna. \$ 20k \_\_\_\_\_ 
 Total Products:
 \$31,022.00

 Total Labor/Services/Misc:
 \$14,020.00

 Taxes (tax excempt):
 \$0.00

 Discounts:
 (\$0.00)

 Total:
 \$45,042.00

 Payments:
 (\$20,000.00)

 Balance:
 \$25,042.00